Project [Project] Versie [Versie, versiedatum]

Object [Object] Status [Status]
Datum [Datum] Auteur [Auteur]
- TITEL-
ucC (Waarde) := I x «+— Round (Waarde R 0.01) kNm :=kN-.m
if x<1 -
H concat (num2str (x) ,“<1.00 ——> OK”) g .81 S_z
else
H concat (num2str (x) ,“>1.00 ——> FOUT”)

L1:=10000 E1:=210000

ql(x):=10 I1:=42510000 Ell:=E1.11
L2 :=10000 E2:=210000

q2(x):=10 12:= 42510000 El2:=E2.12
F :=10000

EIl -wl””(ac) =—ql (m)
EI2.w2"" (ac) =—q2 (m)

wl(0)=0
wl”(0)=0

wl (11) =3 (0)
wl’(L1) =w2’(0)
wl”(L1) =w2"(0)
wl” (L1) +F=w2"(0)

OrpaHitaerangHble NPUBANXKEHUSA

w2(L2)=0
w2”(L2)=0

wl
w2

:= odesolve ([Z; Eg ] ’ [i] ’ [é; ])

Pewarens
| o s o v |

combined bending beam.mcdx




C11:=0.001 C21:=0.001

C12:=0.001 C22:=0.001
C13:=0 C23:=0.001
Cl14:=0 C24:=0.001

wl (x) = L0 4 11 4 C120x7 +C13 x4+ CL4 w2 (x) = 0200 4L o1 ax? 4 C220x7 +C23x+ C24
24 -[E11) 24 - EI2
phil (x) = —L() 5011 ex? $2- 012 x4 C13 phi2 (x) := —2(%) 05001 ax? 42- 022 x4 023
6-EIl 6+ EI2
M1 (x) = —L09 o gocrtex42-C12 M2 (x) = —2(3) 24 6.co1ex42-C22
2.EIl 2.EI2
vi(x) = 6o va(x) =20 6o
EI EI
wl(0)=0 wl(L1)=w2(0) M2(L2)=0
hil (0) =0
phit (0) phil (L1) = phi2 (0) V2(L2)=0

M1(L1)=M2(0)

V1(L1)=V2(0)+F

find (C11,C12,C13,C14,C21,C22,C23,C24)=?

combined bending beam.mcdx c.2



